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Note: this chapter begins a new phase in pjz’r» navn, dealing with inheritance. The critical 7¥79in the /71717 about inheritance comes on
the heels of the request made by Tn95¥'s daughters:
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I ' mwn: 4 groups of relations vis-a-vis nom
a  pY»mm pYma (inheritance is bidirectional): father from son, son from father; paternal brothers
b pYmn &Y poma (only recipients): son from mother, husband from wife, nephew from mother’s sister
¢ poma R PN (only bequeathers): mother to son, wife to husband, mother’s brothers
d  pYmmn xS pom RY (no inheritance): maternal brothers
I Analysis of rhetoric
a  Question: why begin with father inheriting from son (if son predeceases him) — why not begin with son from father
i Supportl: we shouldn’t begin with a tragic circumstance
ii  Support2: son inheriting from father is explicit (n ,oa = if he does have a son, son inherits first)
iii Answer: since father inheriting from son is inferred via a w17, the Rin appreciates it more and puts it first:
1 (% 709) 178 means father, teaching that father comes before brothers
(a) Next: we might have thought that he comes first (before son) — therefore the key word amp implies:
(b) 297> omp 7P MIPN
(i) Question: why do we promote the son over the brother
(if) Answer: because he stands in father’s stead for Ty» and for redeeming nrnx nTv
1. Challenge: brother is “closer” as he stands in brother’s stead for ma»
2. Block: ma» only exits in the absence of a child - son is “closer”
3. Note: were it not for this block, we may have preferred brother — but isnt it 2>1?
4. Answer: "nR N7V is also analyzed (in 1727) and son is “awarded” based on same argument
(c) Suggestion: why not read that father comes before daughter as well?
(i) Answer: since daughter::son for (exempting from) ma», they are equated here as well for “avp”
(d) Suggestion: why not read that father comes (only) before his brothers (but after his other sons)?
(i) Answer: father’s brothers are obviously after him (since they only inherit “through” him), no need for
1RV to establish that priority
1. Note: the verses do not follow his order (as “father” [yARw] comes after father’s brothers)
2. Answer: verses do not follow sequence of mbmn 770
2 Alternate route: Xn»1a-only ayn from father if there is a daughter, not if there are (only) brothers
(a) Suggestion: why not put daughter between father and brothers (only vayn from brothers if no father)
(i) Answer: then there is no need for onyaym
3 Analysis of two approaches:
(a) According to 2" approach (ps772¥/7):3IRV — is the wife, teaching that a husband inherits from his wife
(b) According to 1¢t approach (1I8®): bniaym - teaches that her son and husband inherit from her, thus causing
nom to “pass” from tribe to tribe (if a girl with no brothers inherits from father and marries into another
tribe, her husband or sons will inherit her ancestral/tribal land)
(i) Note: this is another source for inheritance rights of husband
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